Algebra 2

Day Date Video Assignment Due Is it done?
19{Tuesday 4/14/2020 |practice test practice test chapter 9
20|Wednesday |4/15/2020 take test
21|Thursday 4/16/2020 10.1
22|Friday 4/17/2020 10.21422: 1-24
23|Monday 4/20/2020 10.3]428: 1-18, graph evens
24|Tuesday 4/21/2020 433:1-18 odd
25|Wednesday |4/22/2020 433:1-18 even
261 Thursday 4/23/2020 |practice quiz practice quiz 10.1-3
27|Friday 4/24/2020 take quiz
28|Monday 4/27/2020 104
29 |Tuesday 4/28/2020 441: 1-20 odd
30|Wednesday |4/29/2020 10.5[441: 1-20 even
31|Thursday 4/30/2020 447:1-24, graph odd
32| Friday 5/1/2020 |practice quiz practice quiz 10.4-5

Monday 5/4/2020 quiz

How many total did you do:

Zoom session happen Mon/Wed/Fri at 2:30 for those needing any help




Name Test, Algebra 2, Chapter 9

Is the figure symmetric to the given line and to the given point? Answer yes or no. (3)

Test for symmetry to the x-axis and the y-axis. Answer yes or no. (3)

4. 3x’+4y’ =6
5 2x+5y*=7
6. Ix=4y>

Test for symmetry with respect to the origin. Answer yes or no. (2)

7. 3x=6y

8. 4x=5y*

Determine whether each function is even, odd, or neither. (4)

9. fix)=x"

10. fy=x*+x°

1. f)=x5+x

i2. f(xy=7




Tell how the graph of f(x) would be transformed. (10)
13, 6+1f(x)

14. f(x-4)

15. 51 (x)

16, £(6x)

17. 5+31f (%)

18. -4 £(x)

19. £(-5%)

20, 6+f(x-3)

21, 7-3f(0

22. 5f(x+4)

Graph on graph paper. (8) 25, y= 4+-;- M

23 y=-
26. y = 2x?
4. y=|c+2]
27 y=-—(x-2)"'

Find the vertex, line of symmetry, and the max or min. (10)

31, fx)=(x+2)* +4

28. y=-3+(x+5)"

29, f(——;—x)

30. 2/(x)

32, fix)=6(x—8)* -1

33, f(x)=-3x-5*-7

4. f()=~(x-97? +8

35 f(x)=7(x+6)* -5

36, f(x)=~(x+4)* -3

37, f(x)=-2(x-1)% +2

38. f(x)=3(x+4) +5

39. f(x)=-(x+6)2 -7

40, f(.ac):(x-—i!)2 +9




Complete the squareto get an equation in the formf (x)=a (x-h) * + k. (5)
41. f(x)=x +3x+5

42, f(x)=x'+4x-7

43, f(x)=-x* —5x+4

44, f(x)=-2x% -8x+6

45, f(x)=-3x* +3x+5

Find the x-intercepts. (5)
46. f(x)=x>~6x+7

47, f(x)=x? +2x+2

48, f(x)=x-2x+1

49. f(x)=4x* +8x+3

50, f(x)=3x"+4x-4
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Name Practice Quiz, Algebra 2, 10.1-3

Find the distance between the points, (3)

1. (-5,-2) and (2,3)

2. (4,2) and (4,-7)

3. (5,6)and (8,2)

Find the midpoint of the segments having the following endpoints. (3)

4. (5,6) and (7,-3)

5. (-5,3)and (6,7)

6. (-4,6) and (8,-3)

Find the center and the radius of the circle. (4) Geart #7

7. (x=-5+(y~3) =25 center: radius:

8 (x+7) +(y-2)* =81

9. x2+y* =8

10. x>+ +8x -4y +7=0




Write an equation for a circle with. (2)

11. center {0,0) and radius 6

12. center (-2,-4) and radius /3

Find the center, vertices, and foci. (9) Also graph numbers 13 and 15.

2 2
13. f_..+3.v_=1
9 36

center:

vertices;

foci:

14, 4x* +16y* =16

center:

vertices:

foci:




&2 _m?
5, &9 -3
9 16

1

center:

vertices:

foci:

Put the equation for each ellipse in standard form. (2)

16. 5x* +6y* =1

17. 8x> +2y" +48x -4y +42 =0




Name Quiz, Algebra 2, 10.1-3

Find the distance between the points. (3)

1. (-3,-2) and (0,-6)

2. (2,-7yand (4,-3)

3. (5,6) and (8,-2)

Find the midpoint of the segmentis having the following endpoints. (3)

4. (4,5) and (8,-7)

5. (-4,0) and (5,0)

6. (-4,7) and (7,-4)

Find the center and the radius of the circle. Graph number 7. (4)

7. (x+6)? +(y—7)2 =4 center: radius:

8 x2+yt=20

9 x4y +6x+4y+8=0

Write an equation for a circle with, (2)

10. center (0,0) and radius 5

11. center (-3,2) and radius ﬁ




Find the center, vertices, and foci. Graph number 12 and number 14, (11)

center:

vertices:

foci:

13. 4x2 +9y2 =36

center:

vertices:

foci:

12 1Y
14 (x-1) +(y 2)

cenfer:

vertices:

foci:

Put the equation for each ellipse in standard form. (2)

15. 16x2 +25y =1

16. 16x% +4y? +96x -8y +84 =0
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Name Cg_ﬂ;a Mgﬂn'a 2,104-5

Find the center, vertices, foci, and asymptotes. (12)

2
L2 o
4 1

center:

vertices:

foci:

asymptotes.

2. 16y* - 9x* =144

center:

vertices:

foci:

asymptotes:




N N )
4 1

center:

vertices:

foci:

asymptotes.

Put the equation for each hyperbola in standard form. (1)

4. 9x* —4y* +54x +8y+41=0




Find the vertex, focus, and directrix of the parabola. (9)

vertex:

focus:

directrix:

Vertex:

focus:

directrix:

7. (y-3)* ==20(x +2)

Vertex:

focus:

directrix:




Put the equation of a parabela in standard form. (2)

8 x*+2x+2y+7=0

9. 4y* ~4y—4x+24=0

Write an equation of a parabola satisfying the given conditions. (2)

10. Focus (4,0} directrix x = 4

11. Focus (0,-3), directrixy = 3

Graph the hyperbola (2)

12. number 1

13. number 3

Graph a parabola with (2)
14, vertex (0,0) focus (-3,0)

15. vertex (-5,-3) focus (-3,-3)

extra credit: Write an equation for number 15,

directrixx=3

directrix x ='7




